607 — 412 + 216
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> Hehl 411

(607 — 412) + 216 = 195 + 216 = 411
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24 x5+ 12 =120 + 12 = 10(7)
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27x14+18 =378 +18 =21




o S ARE 300 Y, AFZA 2 7HE 800 Y, EW ¢F A= 550
Au ot Mg gk A2 ot AR SF o] ghS et AL B g
1}$94 FrEoh Ao o =8y 7k

o 1=
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> & 1509

300 + (800 + 2) — 550
= 300 + 400 — 550
= 700 — 550 = 150(Q)
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@ 48+-2x%6 @ 48x6=+2 @ 6x48 =2
@48+(2><6) ® 48 % (6+2)

~&B

D48 +2x6=24%x6=144
@ 48%x6+2=288+2 =144
@ 6x4+2=288+2=144
@48+ (2%x6)=48+12=4
® 48 x (6+2) =48 x 3 = 144




8. 5 7l°ll 3000 Y ot= Atk 2 7Rt @ 7ol 650 € Sh= Esot 3 e
ME YTt Atatet Bgoto] ghe B dukluzt?
» g A

> &e 3150¢

(Aot B5ote gh)

= (3000 + 5 x 2) + (650 x 3)
= 1200 + 1950

= 3150 (¢)




